(1) Give the definitions of the following concepts: model for a first-order language; valuation; satisfaction of formulas (atomic and compound) in a model and with respect to a valuation; truth of a formula in a model; when a formula is a semantic consequence of a set of formulas. Formalize the following sentences in first-order logic and check whether the premises imply the conclusion. If not, give a refuting model.

## Premises

Every dog is a mammal.

No mammal is a fish.

Some animals are fish.

## Conclusion

Some animals are not dogs.

(2) Give the definitions of: valuation in propositional logic (KRZ); frame and valuation in intuitionistic logic (INT); logical truth in KRZ and INT.

Please check whether the sentence

"If it is not true that (I ate lunch and drank coffee), then (I did not eat lunch or drink coffee)"

is a logical truth of KRZ and INT. If the answer is no, please provide a refuting interpretation.

(3) The following formulas are given:

a. 
$$(\neg p \rightarrow \neg q) \rightarrow (p \rightarrow q)$$
  
b.  $(p \rightarrow (\neg q \rightarrow \neg r)) \rightarrow ((p \land \neg q) \rightarrow \neg r)$   
c.  $\neg((p \rightarrow \neg p) \land (\neg p \rightarrow p))$ 

For each formula that is a theorem of propositional logic, give a derivation. For each formula that is not a theorem of propositional logic, please justify why it is not so.

(4) Give the definitions of: model of S4; tautology in S4. Check whether the following formulas are tautologies and if not, give an S4-model that refutes the formula.

a. 
$$\Diamond p \lor \Diamond \neg p$$

b. 
$$\Diamond (p \lor \neg p)$$

AS FOR THE DEFINITION, THEOREMS : SEE THE LECTURES

() 
$$\forall x (D(\omega) \rightarrow M(\omega))$$
  
 $\forall x (M(\omega) \rightarrow \neg F(\omega))$   
 $\exists x (A(\omega) \land F(\omega))$   
 $\exists x (A(\omega) \land F(\omega))$   
Derivation  
 $4. \exists x (A(v) \land F(v))$   
 $2. A(c) \land F(c)$   
 $3. \langle x (D(v) \rightarrow H(w))$   
 $4. \langle x (D(w) \rightarrow H(w)) \rangle$   
 $4. \langle x (D(w) \rightarrow H(w)) \rangle$   
 $4. \langle x (D(w) \rightarrow H(w)) \rangle$   
 $5. D(c) \rightarrow H(c)$   
 $5. D(c) \rightarrow H(c)$   
 $7. \langle x (M(w) \rightarrow \neg F(w)) \rangle$   
 $7. \langle x (M(w) \rightarrow \neg F(w)) \rangle$   
 $6. F(c)$   
 $10. F(c)$   
 $11. \neg M(c)$   
 $12. \neg M(c) \rightarrow \neg D(c)$   
 $15. TD(c) \rangle$   
 $15. TD(c) \rangle$ 

SEMANTICALLY: TAKE A MODEL 
$$\mathcal{B} = (B, D, M, F, A)$$
, WHERE  $D, H, F, A \subseteq B$  was relations  
ASSUME  $\mathcal{B} \models \forall_x (D(x) \rightarrow M(x)), \forall_x (M(x) \rightarrow \neg F(x)), \exists_x (A(x) \land F(x))$   
THEN  $\mathcal{B} \subseteq \mathcal{M}$ ,  $\mathcal{M} \subseteq B \setminus F^B$  and THERE EXISTS  $c \in A \cap \overline{T}^B$   
WE NEED: THERE BAST AN ELEMENT OF  $A \cap (B \setminus D^B)$  (i.e. THIS SET IS NOT EMPTY)  
BUT THE ELEMENT  $c$  IS SUCH:  
 $\Lambda^B = \overline{F}^B$  and  $D^B \subseteq \mathcal{M} \in (B \setminus \overline{F}^B)$ , THUS  $D \subseteq B \setminus \overline{F}^B$  THUS  $\overline{F}^B \subseteq B \setminus D^B$ 

$$c \in A^{b} \cap F^{c} A = D^{c} \in M \in (B \setminus F^{c}), \text{THUS} D = D \cap O^{c}$$
  
 $s_{u}, iF \in C \in F^{b}, \text{TLIEV} \in B \setminus D^{b}$   
 $\Rightarrow C \in A^{b} \cap (B \setminus D^{b})$ 

METHODS IN KRZ . (i) TRUTH TABLE ¬(p∧q)→(¬p׬q) 1 1 1 TAUTOLOGY  $\neg (\neg (p \land q) \rightarrow (\neg p \lor \neg q))$ TREES : ٦ ( p ^ q ) ר א א ב) ב 1) rr p rr e q Y ALL BRANCHES CLOSED => TAKTOLOGY ARE (iii) TABLES:  $| \neg (p \land q) \rightarrow (\neg p \lor \neg q)$ ~(pnq) (~pv~q pnq 79 Pr q ALL CASES LED TO 1, P CONTRADICTION 4 TAU TULOGY °q 2,







$$(3) (1 p \rightarrow q) \rightarrow (p \rightarrow q)$$
  
NOT A THEOREM, SHOWN BY THE EVALUATION  $p=1$ ,  $q=0$   
 $(-1 \rightarrow -0) \rightarrow (1 \rightarrow 0)$   
 $(0 \rightarrow 1) \rightarrow (1 \rightarrow 0)$   
 $1 \rightarrow 0$   
 $0$ 

(ii) THE FORMULA HAS THE FORM  $(\alpha \rightarrow (\beta \rightarrow \beta)) \rightarrow (( \land \land \beta) \rightarrow \beta)$  with  $\beta = \neg q$  $\beta = \neg \tau$ 

NATURAL PEDUCTION :

1. 
$$(a \rightarrow (\beta \rightarrow \beta))$$
 CONDITIONAL PROOF STARTS  
2.  $(a \wedge \beta)$   
3.  $(a \wedge \beta)$   
5.  $(\beta \rightarrow \beta)$   
6.  $(\beta \rightarrow \beta)$   
7.  $(a \wedge \beta \rightarrow \beta)$   
8.  $(a \rightarrow (\beta \rightarrow \beta)) \rightarrow ((a \wedge \beta) \rightarrow \beta)$  CUNP. PROOF ENDS

HILBERT STYLE :

$$\left[ \left( d \rightarrow (p \rightarrow g) \right) \rightarrow (dn p \rightarrow g) \right]$$

$$\left[ DEDUCTION THM \\ d \rightarrow (p \rightarrow g) \vdash (anp) \rightarrow g \\ (p \rightarrow g) \vdash (anp) \rightarrow g \\ (p \rightarrow g) \vdash (anp) \rightarrow g \\ (p \rightarrow g) \downarrow anp \vdash g \\ (p \rightarrow g) \downarrow anp \vdash g \\ (p \rightarrow g) \downarrow anp \vdash g \\ (p \rightarrow g) \downarrow anp \\ (p \rightarrow g) \downarrow anp$$

in NATURAL DEDUCTION

HILGERT STYLE:  
LEMMA: 
$$\vdash (\rho \rightarrow \gamma \rho) \rightarrow \gamma \rho$$
Proof:  $\iff \rho \rightarrow \gamma \rho \vdash \gamma \rho$ 
 $\Leftrightarrow \{\rho \rightarrow \gamma \rho, \rho\}$ 
Contradictory
 $1, \rho$ 
 $2, \rho \rightarrow \gamma \rho$ 
Ass.  
 $2, \rho \rightarrow \gamma \rho$ 
Ass.  
 $3, \gamma \rho$ 
MP(4,2)
Contradicton:  $4,3$ 
  
LEMMA:  $\vdash (\gamma \rho \rightarrow \rho) \rightarrow \rho$ 
Proof: SIMILAR
  
BACK TO THE EXERCISE:  
 $\vdash \neg ((\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho))$ 
 $(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho))$ 
 $(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho)$ 
Is contraductory
 $(--\vdash \bot)$ 
  
1.  $(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho)$ 
Assimption
 $2.(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho) \rightarrow (\rho \rightarrow \gamma \rho)$ 
Assimption
 $2.(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho) \rightarrow (\rho \rightarrow \gamma \rho)$ 
Assimption
 $2.(\rho \rightarrow \gamma \rho) \land (\neg \rho \rightarrow \rho) \rightarrow (\rho \rightarrow \gamma \rho)$ 
Assimption
 $4.\rho \rightarrow \gamma \rho$ 
 $1.\rho \rightarrow \rho \rightarrow (\gamma \rho \rightarrow \rho) \rightarrow (\rho \rightarrow \gamma \rho)$ 
Assimption
 $4.\rho \rightarrow \gamma \rho$ 
 $4.\rho \rightarrow$ 



(L)

11

(i)

$$\frac{1}{\sqrt{p^{2}}} \frac{0}{\sqrt{p^{2}}}$$

$$\frac{1}{\sqrt{p^{2}}} \frac{0}{\sqrt{p^{2}}}$$

$$\frac{1}{\sqrt{p^{2}}}$$

$$\frac{1}{\sqrt{p^{2}}}$$

$$\frac{1}{\sqrt{p^{2}}}$$

$$\frac{1}{\sqrt{p^{2}}}$$

TAUTULOGY OF SY NOTE: WE USED REFLEXIVITY